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1. (1) C>*000 f:R*—=RO0O0Orot(grad(f)) =00000
(2) R®*O00D0O0D0 VODOOOdiv(rotV)=00000
2.0000000 V:R=RO0000V =grad(f) 00000 f:R*—-ROOOOD0OO0OOO0ODO
(1) V(z,y,2) = (y+ 2, 2+ 2z, 2 +y)
(2) V(z,y,2) = (y* + 2% 2% + 2%, 2° +¢?)
(3) V(z,y,2) = (F(x),G(y),H(2)), 000 F,G,H:R—-ROODOOODO
3.5 ={(z,y,0) eR3 |22 +y2 <1} 0000
(1) S00D00DD00D000000000ASO000MMO 88000000
(2) SO00n:S—=R3*00n(p):=(0,0,1) (VpeS) 0000000000 ASOODOOOOON
(

3) (2)00000000R30000000 V(z,y,2):=(—y+2z2+z2 0000 V.doooooo
oS

(4) 3)oD vooo rotVDDDD/rotV-dSDDDD (3)00000MOD00N0D00N00N0NON0ONon
D::{(s,t)eR2|s2+t2gl}SDDDD(p:D—w,cp(s,t)::(s,t,o)DDDDDDDD
4. R} = RO f(r,y,2) =2z+22+¢y*—-1000008:=f10)n{z>0}0000
(1)SDDDDDDDDDDDDDDDdD
Ta
2) SO0D0 n— R3O n(p)::liradg%
00o0ooooo

(3) 00 (3)O VDDDD/rotV-dSDDDDDIZI
S

5,000 SO0RO0O00D0000VOODDOO [rotV-dS=000000000S000000000
6.DDDDDDDDDDDDD(S,n),(s’,n’)smaszas’DDDDDDDDpeaszas’mmmn(p):n’(p)
DDDDDDDDDDDD/rotV dS=4+ [ rotV.dS§000000000000D0000000000O
7.ScRSDDDDDDDDDDDDDDDD%DDDDQO U— SOO00000000e@)0D0001:
(—e,6) = @(U)DDD000000¢:U - U)0000000000000UD000 m: (—ee) —»UDO

I(t)=e(m(t)) 000000000000

(1) m(t) = <Z;8) oooo %(t) O mh(t), mh(t) O g—f(m(t)), %—‘f(m(t)) 00000000

(2)p:l(O)DDDD%(O)ETpSDDDDDDDDD
8. Stokes 100000000 DO0D0MR}0O00O0NON0ONO0ONDONONDONDONDONDONODONOOOODOOOO

00000000000000S :={(z,y9,0)eR3|y>0}0000

(1) SO R*000000000O0O0OOOOOO0

(2) H? :={(s,t) e R? [t >0} 000000000 : H2 = R3, ¢(s,t) :=(s5¢0000 pe SOO0O00O0
0000000000000 88={(,0,00€S$}000000000

(3) SOD0DDO0On(p) :=(0,0,1) (Vp€ S) 000000000000 0DO0DO0()D00DO0OOOO0O0
0000000L:R— S,1(t):=(40,000 n00000009SO000000D0O00O0O

() R3O000000 V(z,y,z2):=(e*,2, 000000 V~dlDDDDDD“/rotV~dS”DDDDIZI

a8 S
9.0000 v::(a8 88 S)DDDDDDDDDDDDDDDDDDDD

(1) R*O000000 VODOOV-V =divV
2 2 2
(2) C>*000 f:R3—=ROOODO(V-V)f=Af —af+gi+‘;f
Z

D00000nO 39S ={(z,9,0) €eR3 |22 +y?> =1} 0000

gogbooboooooboon
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S = {(z,y,2) € $? | 2 > 0})00 88 000000080000 n(p) =p(Vpe S OOO0DDODODDO0
V(z,y,z) := (ycosz, —xcosz, Sinz)DDDD/rotV~dSDDDIIIEIIIIEIDDDStokeSDEIDIZI

° 07/250 300000000000DO0O0ODOO
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